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Questions

"Although it was hot, he was wearing a coat." The conjunction used in the above sentence is:

| was driving my car when the accident "occurred". The word "occurred" means:

The word "ample" means:

Choose the correct meaning of the word:The instruction were not "adequate" to deal with the
problem. The word "adequate" means:

Choose the correct meaning of the word: They seemed very "vulnerable" standing on the
ladder. The word "vulnerable" means:

The antonym of "consume" is:

12.Choose the word with the correct spellings:

11.Choose the word with the correct spellings:

10.Choose the word with the correct spellings:

9.Choose the word with the correct spellings:

Choose the correct verb form:l have not a lion.

Choose the correct verb form:The dishes by my brother.

Choose the correct verb form:They the poem.

Choose the correct verb form:She since morning.

If she recovers quickly, she will join the team. The subordinating conjunction in the sentence.
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Answers Choice

it
although
wearing
coat

Appeared
Witnessed
Took place
Revealed

more than enough
greater

little

as usual

Proper
Reasonable
Sufficient
Acceptable

Pleasurable
Liable to injury
Fearsome
Weak

utilize
save
use
reduce

Paralel
Parralel
Parallel
Peralel

Compensat
Compinsate
Compansete
Compensate

oW DOmP DOWP DOWP DOEP» DOWr DOmP» 00w

Techiqe
Techniq
Technique
Techneque

prodaction
Production
Prodoction
Pruduction

see
seeing
seen
saw

are wash

wash

are being washed
are being wash

teaches
has taught
have taught
am taught

sleep

sleeps
slept
has been sleeping

. quickly
C. will
D. join






